
Binärdarstellung von Zahlen (Kapitel 3) Lösungen+ Prüfungsvorbereitung

Aufgabe 3.1

10100012 = 1 · 26 + 1 · 24 + 1 · 20 = 64 + 16 + 1 = 81

Aufgabe 3.2

1427 = 1 · 72 + 4 · 71 + 2 · 70 = 49 + 28 + 2 = 79

Aufgabe 3.3

7711 = 7 · 111 + 7 · 110 = 77 + 7 = 84

Aufgabe 3.4

B816 = 11 · 161 + 8 · 160 = 176 + 8 = 184

Aufgabe 3.5

54 : 2 = 27 Rest 0
27 : 2 = 13 Rest 1
13 : 2 = 6 Rest 1
6 : 2 = 3 Rest 0
3 : 2 = 1 Rest 1
1 : 2 = 0 Rest 1

⇒ 5410 = 1101102

Aufgabe 3.6

86 : 5 = 17 Rest 1
17 : 5 = 3 Rest 2
3 : 5 = 0 Rest 3

⇒ 8610 = 3215

Aufgabe 3.7

202 : 16 = 12 Rest A
12 : 16 = 0 Rest C

⇒ 20210 = CA16

Aufgabe 3.8

0 0 1 0 1 0 1 1 1 1 1 1
2 B F
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Aufgabe 3.9

7 C 1
0 1 1 1 1 1 0 0 0 0 0 1

2


